I§I:
— -

(i

)
|

o iyt

o BAATTAR o ARl AL

« SMBAFAERFIESX > HIDIN 6499 51S0 15488 » H] 5511 34 38
o S~ RHY IR AT LU A

o SRS I IRIRLOF R

o WIPELF ~ SRR O HE )

o AT LARIESRZCER B

* ETI-125ERIIAHZE

£1.01

> ¢
\ |
i
) L
. S
< 2 \
S
y ? =
( > —
: y
. 3 <
1 - ;

|
|




Extension [
_ ! PCM ET1 DIN 6499/ 1SO 15488

b 1) | e (ER/ESX, 8°)

2o ISO
mm | 5E2? | GES | G2 | SRE | me | Tes | e’ | DN

Japan

1.00 ET1-12100AL | ET1-16100AL
1.40 ET1-12140 ET1-16140 D
1.50 ET1-12150AL | ET1-16150AL
1.60 ET1-12160 ET1-16160 D
1.80 ET1-12180 ET1-16180 D
2.00 ET1-12200 ET1-16200 I
2.20 ET1-12221 ET1-16221 ET1-20221 D
2.24 ET1-12224 ET1-16224 ET1-20224 |
2.50 ET1-12250 ET1-16250 ET1-20250 ET1-25250 /D
2.80 ET1-12280 ET1-16280 ET1-20280 ET1-25280 /D
3.00 ET1-12300 ET1-16300 ET1-20300 ET1-25300 J
3.15 ET1-12315 ET1-16315 ET1-20315 ET1-25315 I
3.50 ET1-12350 ET1-16350 ET1-20350 ET1-25350 D
3.55 ET1-12355 ET1-16355 ET1-20355 ET1-25355 |
4.00 ET1-16400 ET1-20400 ET1-25400 1/D/J
4.50 ET1-16450 ET1-20450 ET1-25450 ET1-32450 /D
5.00 ET1-16500 ET1-20500 ET1-25500 ET1-32500 1/J
5.50 ET1-16550 ET1-20550 ET1-25550 ET1-32550 (D)/J
5.60 ET1-16560 ET1-20560 ET1-25560 ET1-32560 |
6.00 ET1-16600 ET1-20600 ET1-25600 ET1-32600 ET1-40600 D/J
6.20 ET1-16620 ET1-20620 ET1-25620 ET1-32620 ET1-40620 J
6.30 ET1-16630 ET1-20630 ET1-25630 ET1-32630 ET1-40630 1
7.00 ET1-20700 ET1-25700 ET1-32700 ET1-40700 D/J
7.10 ET1-25710 ET1-32710 ET1-40710 I
8.00 ET1-25800 ET1-32800 ET1-40800 1I/D/(J)
8.50 ET1-25850 ET1-32850 ET1-40850 J
9.00 ET1-25900 ET1-32900 ET1-40900 /D
10.00 ET1-25100 ET1-32100 ET1-40100 /D
10.50 ET1-32105 ET1-40105 J
11.00 ET1-32110 ET1-40110 D
11.20 ET1-32112 ET1-40112

12.00 ET1-32120 ET1-40120 D
12.50 ET1-32125 ET1-40125 1/J
14.00 ET1-40140 1/D/J
15.00 ET1-40150 J
16.00 ET1-40160 /D
17.00 ET1-40170 J
18.00 ET1-50180 /D
20.00 ET1-50200 1/D/J
22.00 ET1-50220 D

. ERAMEIME

. REZMRT  BFERE > FHGLR

. BHABFHEEInchiR

£1.02



ETU1

PCMZ! = ) D E F|G|H|L|Dmax M

ETUI-25-E1IL | M1 - M3 ;
ERI11

ETUL2SENM | M3-M5 |26 |ERI |16 [16 |8 |32 i :

ETUI-25-E11S | M6 - M10 -

ETUI-32-E1IL | M1 - M3 2 x M6 x 06

ETUI-32-EIM | M3-M5 |33 [ERIL 1yg 132 |10 [41 7 2 x M6 x 06
ESX12

ETUI-32-E11S | M6 - M10 2 x M6 x 06

ETUI-32-E20L | M2 - M4 2xM6x 10

ETU1-32-E20M | M5-M8 |33 [ER20 135 145 |10 [41 13 2x M6 x 10
ESX20

ETUI-32-E20S | M10-Ml6 2xM6x 10

ETUI-40-E16L | M2 - M4 2 x M6 x 08

ETUI-40-E16M | M5-M6 |41 |ERI6 127 140 |13 |53 10 2 x M6 x 08
ESX16

ETUI-40-E16S | M8 - M112 2 x M6 x 08

ETU1-40-E25L | M3 - M6 2x M8 x 12

ETU1-40-E25M | M8-M12 |41 |ER2ZS |45 |57 |13 |53 16 |2xM8x12
ESX25

ETUI-40-E258 | M14-M20 2x M8 x 12

o TABNATURT » RERERTERE TR TR 2ZIX

o BE—RSETUIZGFER  BI\ELZCK/N > A58 ~ 1~ 5= E

- SERMESXERMER » AJE#

k103

DIN 6499/ 1SO 15488



KR

2100 % 7%

15 50 L
ol L_¥_‘
=zl ,
- W‘ |
8

™

N~

8

[Te

2100-58 15.87 38
2100-16 16 38
2102 19.05 38
2101 20 38

. PRIFHFO8 mm
. Fx K /11000 dan

2160 Z 7

2160-120-038 12 38
2160-140-038 14 38
2160-158-038 15.875 38
2160-160-038 16 38

- ¥EFHFO8 mm
. B A#E 711000 dan

2103 25 50
2104 254 50
2100-22-75 22 75
15 47 L
— ! -
A
@©
S ©
N
& ‘

2160-190-100* 19.05 100
2160-200-100* 20 100
2160-220-100* 22 100
2160-250-120* 25 120
2160-254-120* 254 120

- HRERER BITHEY

£1.04



LR
6180/ 6181/ 26200 Z 7|

. PREFHFO8 mm
- T R#EF11200 dan

o ~
i p—
=R B/ VDI 3425-2 / DIN 69880
= D L o D L PCM%S VDI
PCMQE? [mm] [mm] PCMéﬁ-; [mm] [mm]
26200-16 16
6180-158 15.87 40 6181-158 15.87 40
26201 20
6180-160 16 40 6181-160 16 40
6180-190 19.05 40 6181-190 19.05 40
6180-200 20 40 6181-200 20 40
6180-250 25 50 6181-220 22 40
6180-254 25.4 50 6181-250 25 50
6180-300 30 60 6181-254 25.4 50
6180-317 31.75 60 6181-300 30 60
6180-320 32 60 6181-317 31.75 60
6181-320 32 60

£1.05



KR

6190/ 6191/ 26300 Z 7|

o $FFHFO8 mm

. B K#E /14000 dan

68

40

50

6190-200 20 55
6190-250 25 55
6190-254 254 55
6190-300 30 55
6190-317 31.75 55
6190-320 32 55

6191-250 25 55
6191-254 25.4 55
6191-300 30 B
6191-317 31.75 55
6191-320 32 55
6191-350 35 55
6191-381 38.1 55
6191-400 40 55
6191-444 44.45 68
6191-450 45 68
6191-500 50 68
6191-508 50.8 68

£1.06



DY |
6162 R 7l

. FREFHTFO12 mm
- B K#E/11200 dan

[

-,
D §
o 5 Sj 2

18 L
HR/EFE HSK-C MKE X 8 52
6162-12-HSK32 32 6162-12-CM2 2
6162-12-160 16 45
6162-12-HSK40 40 6162-12-CM3 3
6162-12-190 19.05 45
6162-12-200 20 45
6162-12-250 25 45
6162-12-254 25.4 45
6162-12-320 32 45
6162-12-400 40 45

£1.07



M3k Fi
6165 % 7%

. FREEHFO8 mm
- B2 K#E/11200 dan

93

b A . il
O |9} 0
o (-
18 L —
BEA/EEE HSK-C MKE [ &
= D L PCM% S HSK-C PCM%S MK
PCMZS [mm] [mm]
6165-08-HSK32 32 6165-08-CM2 2
6165-08-160 16 45
6165-08-HSK40 40 6165-08-CM3 3
6165-08-190 19.05 45
6165-08-200 20 45
6165-08-250 25 45
6165-08-254 254 45
6165-08-320 32 45
6165-08-400 40 45
5 44 s
sih o 1:
Y
6165 Z 7%l
a@ - ] @D
« HEEHFD8 mm
- Bx K#731200 dan 2
<
[
Q‘
= D L = D L
PCM?ﬁ-a- [mm] [mm] PCMﬁ? [mm] [mm]
2150-070 7 30 2150-150 15 38
2150-080 8 30 2150-160 16 38
2150-100 10 38 2150-190 19.05 38
2150-120 12 38 2150-200 20 38
2150-130 13 38 2150-220-75 22 75
2150-140 14 38

£1.08



HF
2110 Z %

o

28.2+0.1

- -

£1.09

S
O S O S O S

PCM%&S [ [mm] [mm] PCM%4S | [mm] [mm] PCM%S| [mm] [mm]
2110-01.50H | 1.5 D9 1.538+0,007 2117H 7 EIll 7.104+0.011 2110-159H | 1/16” D9 1.625+0.007
2112H 2 D9 2.038 +0,007 2118H 8 Ell 8.104+0.011 2110-198H | 5/64” D9 2.022+0.007
2112-5H 2.5 DI0 | 2.553+0,007 2119H 9 EIll 9.104+0.011 2110-238H |3/32” D10 | 2.434+0.007
2113H 3 Ell 3.071+0.009 2110-10H 10 E11 | 10.102+0.013 2110-278H |7/64” D11 | 2.851+0.007
2114H 4 Ell 4.086+0.009 2110-11H 11 E11 | 11.129+0.013 2110-317H | 1/8” Ell 3.261+0.009
2115H 5 EIll 5.086+0.009 2110-12H 12 E11 |12.129+0.013 2110-397H | 5/32” El1 | 4.054+0.009
2116H 6 Ell 6.084+0.011 2110-13H 13 El1 | 13.129+0.013 2110-476H | 3/16” E11 | 4.848+0.009
2110-14H 14 El11 | 14.129+0.013 2110-556H | 7/32” Ell | 5.642+0.009
2110-635H | 1/4” Ell 6.454+0.011
2110-794H | 5/16” El1 8.041+0.011
2110-952H | 3/8” Ell 9.629+0.011




HF
6150 Z 7%

55+0.1

f - : @12

O O O
PCM4ES | [mm] [msm] PCM%S | [mm] [msm] PCM#%S | [mm] [msm]
6150.03H 3 EIll 3.071+0.009 6150.11H 11 E11 | 11.129+£0.013 6150-317H | 1/8” El1 3.261+0.009
6150.04H 4 Ell 4.086+0.009 6150.12H 12 El1 | 12.129+0.013 6150-397H | 5/32” El11 | 4.054+0.009
6150.05H 5 El1 5.086+0.009 6150.13H 13 E11 | 13.129+0.013 6150-476H | 3/16” E11 | 4.848+0.009
6150.06H 6 Ell 6.084+0.011 6150.14H 14 E11 | 14.129+0.013 6150-556H | 7/32” Ell 5.642+0.009
6150.07H 7 EIll 7.104+0.011 6150.16H 16 DI2 |16.217+0.013 6150-635H | 1/4” El1 6.454+0.011
6150.08H 8 Ell 8.104+0.011 6150.17H 17 D12 |17.217+.0.013 6150-794H | 5/16” El1 8.041+0.011
6150.09H 9 EIl1 9.104+0.011 6150.18H 18 D12 | 18.214+0.016 6150-952H | 3/8” Ell 9.629+0.011
6150.10H 10 E11 | 10.102+0.013 6150.19H 19 DI2 | 19.259+0.016 6150-127H | 1/2” Ell 12.829+0.013
6150-142H |9/16” D12 | 14.504+0.013
6150-158H | 5/8” D12 | 16.092+0.013

110



HF
2151 %%

HF
2122/ 6173% %

L=28.240.1

@
Q

1.5°

2122-T06 6

2122-T08 8

2122-T09 9

2122-T10 10
2122-T15 15
2122-T20 20
2122-T25 25
2122-T30 30
2122-T40 40
2122-T45 45
2122-T50 50
2122-T55 55

111

@5
2151-01.50H |[1.5 D9 1.538+0,007
2151-02.00H |2 D9 | 2.038+0,007
2151-02.50H |2.5 DI0 | 2.553+0,007
2151-03.00H |3 EI1l | 3.071£0.009
2151-03.50H |3.5 E1l | 3.586+0.009
2151-04.00H |4 EI1 | 4.086+0.009

L=5540.1

6173-T20 6
6173-T25 8
6173-T30 9
6173-T40 10
6173-T45 15
6173-T50 20

ml@

@12



S naaie 4ine
CAPITOLO ESTE ,",/VU[]UI[?/ ANV

: .Méde. in ltaly.




